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2ok Prak | ek | EEEE | EEES | EERE | By | EHEET EREE
211018 102 1 1 =L P 2 1A ZIRERES
211020 102 3 1 = Sy 2 1A ZIREEES
211024 102 7 1 = /B 2 1A SR ES
211029 102 12 1 = /B 2 1A SR ES
211031 102 14 1 = /B 2 1A ZIIREEES
211033 102 16 1 =L L 2 1A ZINRESES
211036 | 102 19 1 =L b 2 1A ZINREES
211060 | 104 5 1 =L L 2 1A ZINRESES
211064 | 104 9 1 =L L 2 1A ZINREES
211067 104 12 1 =L P 2 1A ZINRESES
211071 104 16 1 =L L 2 1A ZINRESES
211072 | 104 17 1 =L b 2 1A ZINREES
211073 104 18 1 =L L 2 1A ZIIRESES
211074 104 19 1 = P 2 1A SR ES
211097 106 5 1 =L L 2 1A ZIRERES
211099 106 7 1 =L L 2 1A ZIRERES
211132 | 108 4 1 =L L 2 1A ZIRERES
211136 | 108 8 1 =L L 2 1A ZIRERES
211142 | 108 14 1 =L L 2 1A ZIRERES
211143 108 15 1 =L L 2 1A ZIRERES
211145 108 17 1 =L L 2 1A ZIRERES
211163 110 ] 1 =L L 2 1A ZIRERES
211166 | 110 4 1 =L L 2 1A ZIRERES
211170 110 8 1 = Py 2 1A ZIIRER =S
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5k JEgR | EER | A | B | EERIE | B | HEEET EREE
211171 110 9 1 = Y 2 1B ZUIRE R EA
211173 110 11 1 =L st 2 1B S INRER =S
211176 110 14 1 5 Sz 2 1B ZUIRE R EA
211177 110 15 1 =5—F bz 2 1B ZIIRE R EA
211251 110 19 1 5 Sz 2 1B ZIIRE R EA
211198 112 2 1 =k e 2 1B S INRER =S
211200 | 112 4 1 =5—F e 2 1B S INRER =S
211202 | 112 6 1 =k e 2 1B S INRER =S
211204 | 112 8 1 =5—F e 2 1B S INRER =S
211205 112 9 1 =k e 2 1B S INRER =S
211209 112 13 1 =k e 2 1B S INRER =S
211211 112 15 1 =5—F Sz 2 1B ZIIRE R EA
211248 112 19 1 55—k ZpE 2 1B ZUIRE R EA
211214 114 1 1 =5—F ZpE 2 1B ZUIRE R EA
211217 114 4 1 =5—F ZpE 2 1B ZUIRE R =S
211218 114 5 1 55—k ZpE 2 1B ZUIRE R =S
211221 114 8 1 =5—F ZpE 2 1B ZUIRE R EA
211222 114 9 1 55—k ZpE 2 1B ZUIRE R EA
211223 114 10 1 55—k ZpE 2 1B ZUIRE R EA
211226 114 13 1 =5—F ZpE 2 1B ZUIRE R EA
211229 114 16 1 55—k ZpE 2 1B ZUIRE R EA
111220 | 203 15 1 =5—F ZpE 2 1B ZUIRE R EA
111262 | 211 21 1 =5—F ZpE 2 1B ZUIRE R EA
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